
 
 pg. 1 

Assembly instructions for the Outdoor Freestanding Teepee Den  

This product will require four people to assemble.  

Fitting Kit  

17  x 80mm  Screws  

3 x 60mm Screws 

Grass – 1150mm x 1600mm  

Tools Required 

Cordless Drill/Screwdriver 

1. Place the floor in the required location. 

 

 

 

 

 

 



 
 pg. 2 

2. Lift one of the side panels into position and hold in place. Lift the other panel and allow them both to 

meet up, ensuring that the peak is flush and square.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 
 pg. 3 

3. Secure the base of the side panels to the front and back using 4 x 80mm screws. 

 

4. Lift the back panel into place ensuring this is flush with the ends of the side panels. Secure in place 

inside the product using 9 x 80mm screws along the bottom and sides. 

 

 

 

 

 



 
 pg. 4 

5. After securing the back panel and after some slight adjustment secure the peak of the product using 

4 x 80mm screws 

 

 

 

 

 

 

6. Place the steps against the floor of the product ensuring they sit square. Secure in place with 3 x 

60mm screws.  

 

 

 

 

 

 



 
 pg. 5 

7. Finished product.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


